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Instructions for the candidates :

1.

o e T =t A @ I )

Candidates are required to give their answers in their own words as far as
practicable.

e ot aferd W o 30 3% quite Fffe @ &

Figures in the nght hand margin indicate full marks.

3 WETT F1 AAYEE G F o 15 @1 fafre woq R mr &

15 minutes of extra time has been allotted to read the questions carefully.

I7 ¥I9A 3 @Uel & fave & @vag-7 09 gua-gi

This question paper is divided into two sections — Section-A and Section-B.
avs- § 48 amgfra qvT & fFd sowe sifrard &1 afc wemat 408 i et
& I A/t & At Wgw 40 I #T & YAIDA BT AW A4E T F
1 3% fuiftd 1 OMR I7T-T3% W Ry M0 7Rt g7 i Fet/Ae A7 97 ] w7/ At

Wi W7 & g@I3eAv / AT W / &% / AT AT BT OMR IA-UHE ¥ W4T
TFT HT H=UT QT RO 3T g
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which 40 questions are
In Section-A there arc 48 objective type questio s, the first 40 answer,
compulsory. If the candidate answers more than 40 m:-k_ o cen the correct ey
only will be evaluated. Each question cames 1 m‘:l Do not use whitener
given on the OMR answer sheet with black / blue ba ’f:“r et otherwise the
liquid material / blade / nail etc. on the OMR a

result will be invalid. ) ;

6. TvF-y 3 gl fama & 7 FA S
fee 2 3@ Friifeer &1 ions of § subjects of Soctal
In Sectlon-B there are Short Answer Type ques
Sclence. Each question cames 2 marks. N s 3 _;;? rf!

- " , 3 ¥ = 35 JT S
¥ 5 ey 3 57 (Q.Nos. 18 8) &, Pt Nos. | to S) out of which any
History has 5 Short Answer Type questions (Q. Nos.
3 questions are to be answered. , .
, s o) § frant fedd 29 &

Tereffy T 4 6 7y 3T 5 (Q. Nos. 8 & 1) &, [T 2 I
2 &
Political Sclence has 6 Short Answer Type questions (Q. Nos. 8 to 13) out of
which any 2 questions are to be answered. _ R & oy
arefren i 3y 3dq 98 (O Nos 168 18) £, forst Feet 2991 & IM w1 &1
Economics has 3 Short Answer Type questions (Q. Nos. 16 to 18) out of which any
2 questions are to be answered _
sieT 3} 5 7y 3 UE (Q Nos. 21 & 29) & Frmd fet 3wl & IW LR
Geography has § Short Answer Type questions (Q. Nos. 21 to 25) out of which any
3 questions are to be answered.
T ST 4 7y 3T 5 (Q. Nos. 28 # 31) &, ol feet 2wl & I
g1 &
Disaster Management has 4 Short Answer Type questions (Q. Nos. 28 to 31) out
of which any 2 questions are to be answered.
g1 Sifafees 8 S ITIG R¥T (Q. Nos. 6, 7, 14, 15, 19, 20, 26, 27) & | FE q74 &
fv 4 s fiifcr &1 sfarm, ot famm, i od yoiier of g @ 0F-0F
7¥T &1 I & &
Apart from these, there are 8 Long Answer Type questions (Q. Nos. 6,7, 14, 185, 19,
20, 26, 27). Each question cames 4 marks. One Long Answer Type question each
Jrom History, Political Saence, Economics and Geography is to be answered.

7. [#5 TR & sl 3VEOT 1 39AIT FET )
Do not use any type of electronic instrument.
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Ty - ¥ / SECTION- A

u‘qﬁva‘m / Objective Type Questions
T WY 1% 48 7% & gdw 0T & W ww frwew Ry o § forrd ® ow owt

STt aTT §R v wat ey & oMR ¥z T Rifta w1 A 40 WAl o ot AT

40x1 =40
Question Nos. 1 to 48 have Jour options each, out of which only one is correct. Mark your

selected option on the OMR shect. Answer any 40 questions. 40x 1 =40

1. &aﬁww#mqﬂnﬁmﬁaﬂﬂwwmmmﬂﬁmmlﬁ
ferm gan 2

(A) T (B T

€ N M{dﬁwm

After the second great war which organisation in Europe emerged to remove the
economic ill effects ?

(A)  SAARC | (B) NATO

(C) OPEC (D) European Union

2. [ow w0, o o A G @ w3 ¥, w9 93 a2

(A)  TETE T (B) WA fq

(C) TR Y (D) ¥ TElE

Who said printing is the greatest gift of God ?

(A)  Mahatma Gandhi (B} Martin Luther

(C)  Prophet Muhammad (D)  Jesus Christ
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mﬁmsﬁm’t”ﬁm"mm“

(B) 17 7
@A) 16T
e (D) 19 ad

y 18w

What is the minimum age to be a voter in India ?

(A] 16 ycars (B) 17 yeard

(C) 18 years (D) 19 years

v % Far W ) T ST § 2 |

(A) w3 s () ¥ s wEE
€) UETHE AN A (D) T iR ddi
What type of syal;:m of government is there in India ?

(A)  Federal and Presidential (B) Federal and Parliamentary
(C)  Unitary and Presidential (D)  Unitary and Parliamentary
WRa ¥ S F FEE IEE T4 ¢

(&) 9 dme By~ 9IRS

(©) s - o) wdEG

The leading coal producing state in India is

(A)  West Bengal (B) Jharkhand

(C) Odisha (D)  Chhattisgarh
YR & WU AF-3HE IQRE IO &

W AR A R gEE S asco)
JB’/ T W AR T FF (TISCO)

€ %R ©e fad

D) fariraa A AR T we
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The first iron and steel producing industry is
(A)  Indian lron and Steel Company (IISCO)
(B)  Tata lron and Steel Company (TISCO)

(C)  Bokaro Steel City

(D)  Viswesvaraya lron and Stecl Plant

w@iom ap= gafua @
A} ©RE B qgH Am |
(C) W =mi D) TguM

Golden Quadrilateral is related to

(A} Railways (B) Roadways

(C) Waterways (D)  Airways

TUgw TG &

Ay Afam | (B) aHifETR 4

(€) Hiieerd & D) BEH

Gandak project is in

(Al Bettiah (B)  Valmikinagar

(C) Motiharn (D) Chapra

o 1 @ -6 1 9 Aiwaite st & F5E @l 2

(A) A & T FEEA (B) WA wd fremet g

S SR YR (D) g A
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- gystem ?
w ; cratic systc
hich one of the following is not according to the demo

2ir clection
(A)  Equality before law @) Frecand fai

jorit
(C)  Responsible ruling system (D)  Rulc of majonty

10. iR # wee R FE
(A TR& @l TS W
B e ) i aad W
[W & feraargut wwifital @
(D) fewt grT R Wt & fedl &t W ®
Success of democracy depends on
(A}  disinterest of citizens
(B} illegal activites of citizens
(C) a;livc participation of the citizens
(D)  sccure the benefits of their caste by the citizens
11. &R & W U HIRom
(A) G A W A B) Tlea
€ T T Oy FEmEER
Bad cffect of feeling of regionalism is
(A)  Attachment to own rcgionl (B)  National interest
(Cl- National integration (D)  Separationalism
[ 111 ] H [5011-H s Page 6 of 24
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B

W srwiia de (B)  TARKIOMY O
(C) g danm (D) T A Y
Coal is
(A) Non-renewable resource (B] Renecwable resource
(C) Biotic resource (D)  Nonc of these
13, &IEA &
=
1}3 18 WTHiaE TR (B) WFEY T
g (C) THFE A9 (D) TH ¥ 1 =&
%- Landslidc is
A
é_ (A)  Natural disaster (B)] Man induced disaster
% (C}  Normal disaster (D) None of these
14. RTR O & &3 1 R0 §
A) feaeaem (B) EEhE
Jor” g D) & | FE T
The result of vibration of ocean bottom is
(A)  Avalanche (B) Cyclone
(C) Tsunami (D}  None of these
[111 ] H [5011-H as
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1S, el ) wg @ aAwwn gt - ?

A @ @A

. ' 8
The scismic wave reaching the carth's surface first ‘.

B Swave

(A) Pwave
(C) Lwave (D) Twave
16. TN w1 WA &
@A) e B TR
(C) WA ¥ oy~ TR Fre T
Tsunami is related to
(A} Land (B] Sea
(C)  Sky (D)  Nonc of these

17.  SNFEE T WG A 9o T FA-E 2

(A) FOH FEEH ﬁ/ﬂﬁmaﬁ
(€ wrafrs FiW W@ wEd (D) ¥ A HE T/

Which institution promotes long term loans ?
(A)  Agncultural lenders

(B) Land Devclopment Bank

(C) Primary Agﬁcullural_Crcdit Society

(D} Nonc of these
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witer faere w1 den s w 8 )

I8
(A e ® fom dx
) fmn o oy
Which is the third sector of Economic development ?
(A)  Agriculture sector (B) Science sector
(C)  Education sector (D)  Service sector
19. =t snfaw -ifa i} fed wfsdfem fem ma 2 hitp://www.bsebstudy.com
A FE @ Frelem
) Asftwm o wRawd
What was included in the New Economic Policy ?
(Al Liberalisation (B) Privatisation
(C)  Globalisation | (D)  All of these
20. I ET fowa w0 & fag s e fem e € 2
(A} S0 Te B 70%
(" 10%0 D) ViR et
What is the application fee for making a complaint by the consumer ?
(A) Rs.50 (B) Rs.70
(C) Rs. 10 (D) No application fee
[111 ] H [5011-Hum Page 9 of 24
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21, mmamwmmmﬂ* ?
A 177 (B 15 e
(C) 19 ¥AA o) 22 A
When is Consumer Rights Day celebrated 7
(Al 17th March g 15th March
(C)  19th Apnl D) 22nd Apn!
by AT & sy o fFE &7
Ay | &
ey T TIRL
How many [actors constitute globalisation ]
(A} One By  Two
L-to’/ Five (D) Four
23 #R-F FE R X 7
A #ET ®  fm T
N Hier (D) TH T

Which of the following is a non-government service 7

(A) Police service Bj Finance service
(C)  Mall service ' (D)  Railway service
[111 ] H {SO11-H ns Page 10 of 24
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R & fadia e few TR ww o )

N B) feeh
@ e D) dTEE
Which is the financial capital of India ?
(A)  Mumbai (B)  Delhi
(C) Patna (D) Bengaluru
wa T &t fade 7 ¥

Ay fefed dfaum B) el &t fasrer
(C) THEQ WET Hawl (D) Waa gt
Which is not a characteristic of a federal state ?
(A) Written constitution (B)  Power distribution
(C) | Unitary ruling system (D)  Supreme Judiciary

FY TIHR T IS0 €

26.
iy s | dH
€ fae o) A FE HWI
The example of federal government is
(A)  America (B) China
(C)  Britain (D)  None of these
27. hﬁﬂﬁﬁ@ﬁiﬁﬂﬁﬁaﬁﬂﬁaﬁiﬁﬁﬁwm ?
(A)  HRISH 0 (B) T PR
© s i Py~ SR AR
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Who among the following led the _H'umpurni

Kranti | Complete Revolution i
] i

Bihar ?
(A)  Morarji Desai (B)  Nitish Kumat
(C)  Indira Gandhi (D) Jay Prakash Narayan
28, e et A i fem g T R T E 2
() T s @ e e &
(B) wi & s zewrl @ @ R E
() mwaﬁmw%m@mmmk
(D) Wﬂﬁuﬁ@ﬁdﬁsﬁuﬁ@rﬁ%a}amﬁmmrmmmt
On which of the following points did democratic systcm get success ?
(A)  Abolished the political differences
(B)  Abolished the conflicts between the people
(C)  Majority and minority groups are trcated cqually |
(D)  Reduces the economic grade for the pocple standing in the last line
29, T WD 3w (Feie e sume) 7 v featey @ € 2
(A TR & fer B wrm fam & e
(€ e R @ & fere Py A F fa
For which purpose is remote sensing satellite used ?
(A)  For telecommunication (B)  For meteorology
(C)  For searching the resources (D)  For television
[ 111 | H | S011-H us) ‘ Page 12 of 24
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0. P8 @ s @ v ddeie b
A AR ) T
€ RmR oF
Which of the following is the most sensitive city to carthquake ?
(A)  Dechradun (B) Ranchi
(C})  Hyderabad (D)  Chennai
3. FedifR oy rasaamt
(A) 99 B) &
oy~ fawm D) feeett
Which of the following is called backward state ?
{A)  Punjab (B) Kecrala
(C) Bihar (D)  Delhi
32 WRA A fadig e s FEr @ g ?
(A) 15t / 31 TR T (B) 19 R 30 9H &
(Cy 130 ¥ 31 O 7% D) 1 fagm @ 31 3T A%
Which of the following is Financial year in India ?
(A) From 1st January to 31st December
(B) From 1st July to 30th June
(C) From lst April to 31st March
(D) From lst September to 31st August
[111 ] H [5011-H ng Page 13 of 24
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Mo AT e fraeg e b s e fpn e 2
il
(A} wanfa () win IRk
(C)  wurpa o) et

: . p . our ?
In which post did Victor Emmanuel appoint Count Caw

(A) Army Chief (B) Ambusmulur in Francc

(C)  Prime Minister (D)  Home Minister
34. T ud ol # Hfa @ spreran & fmm o 2

(A s gy fee

) fawmrd o) fafaaa

Who sturted the policy of blood and iron ?

(A} Mazzini (B]  Hitler

(C) Bismarck (D) William1
35, WrIEE EA &1 9E 5 FE §IN o 2

(A} w4 (B) IR

(C) H|H (D)

Where was the first experiment of the communist governance started ?

woo Apnisqasq-mmm//:dny

(A) Russia (B) Japan
(C) China (D) Cuba
1111 H |S5011-H qs Page 14 of 24
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4 edfEE wifa iﬁ ?

A w@Y, 1917 B T, 1917

() A, 1917 . (o) e, 1905

When did the Bolshevik revolution take place ?

(A}  February, 1917 (B) November, 1917

(C)  Apnl, 1917 | (D)  September, 1905
37. R awia fagm ofcer fma fren § wfwa § 2

L G | | der

€) TR ) et

In which district is Kanti Thermal Power Project situated ?

(A)  Pumia (B) Siwan

(C)  Muzaffarpur (D) East Champaran
38, (o1 G HE1 Rad & ?

Ay IR | B TER

G . (D) W

Where is the railway workshop situated ?

(A)  Jamalpur (B) Bhagalpur

(C) Munger | (D) Patna
30. A 1 9@ FR FE ?

(B TR (B) erh & o vy

(C) Ed W Y D) T | =
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What s the main caune of Tsunami ?

ke in plan area

My Ljél
(Al Earthquake i sea (13) Earthq

hesc.

; - ol t
(€} Earthquake on mountain (D)  Nonc

0. §mg ® )

’ Ty ¢ : ITI“
vb\r/ mqaf.m: K (4] ) -4 ‘r‘[f-{rl H
E27 IICH] (4] iR} -]';T'; '!Pﬁ
(C) AT 34Y (D) i".]ﬂ H v

What is drought ?

(A)  Natural disaster (B) Man-made disaster
(C)  Normal disaster ' (D) Nonc of these
A1 e e FefeR @ e ER e
(A) T B) A el
(€ ¥ gyERy (py” férams
The main cause of land degradation in Punjab is
(A)  Deforestation iB] Intensive cultivation
(C)  Overgrazing . (D) Overirrigation

42, TFE YRR ° S @ 9 el &
(A)  55% (B) 60%
( 65% D) 70%

Amount of water present in human body is

woo Apnisqasq-mmm//:dny

(A)  55% : (B)  60%
€)  65% (D)  70%
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it el @ et i N e s @ 0

A G 3/ 3

By siftm
€ &W

(D) &g
Which of the following creatures is found only in India ?
(A} Crocodile (B)  Dolphin
C \
(C) Vhale (D)  Tortoisc

A I N g Foq o

_[}/ (B) TRNIRE

\

() TR (D) e I

The main raw material of cement industry is

(A)  Limcstone (B) Bauxitc
(C)  Granite (D) Iron ore
fez- 1 T Al et st R 4 2

a) TS (B) Ed

(&Y qamed | D

Who were the first merchant o arrive Indo-China ?

(A) England (B) French
(€ Portugal (D) Dutch .
[ 111 ]| H [S011-H s Page 17 of 24
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a6 wimma s it o NE 430 7
(A) 1920 ,l»”’/ 1930
(C) 1935 o 1942
When did the civil disobedience movement start ?
(A 1920 m 1930
() 1935 o) 1942
47, TIEE Aw-gEE I0M R
Wy sifem B S S
() wawnH (p) ofTA I A
Rourkela iron and steel industry i8 in
(A)  Odisha (B)  Jharkand
(C)  Madhya Pradesh (D)  West Bengal
48, Wi 2 @ wE TR @ T e & gt a2 .
) wfrdier s (B) TS g
€ Fh s (D) TR} T
Which type of attitude emerged in urban system lcaving the fcudal system
behind ?  http://www .bsebstudy.com
(A)  Progressive attitude (B)  Aggressive attitude
(C}  Orthodox attitude (D)  Exploitative attitude
[ 111 ] H | S011-H s Page 18 of 24
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oug - ¥ / SECTION-B

3fagT / History
Y IFAT WY / Short Answer Type Questions
Wqﬂmn1“’SWFﬁ?3ﬂ#vfryﬁﬁ#ﬁﬁﬁanwﬁéﬁmrirmﬁnmw&rhv
23!3" ﬁ'ﬂfﬁa’ E"I 3x2= 6

Question Nos. 1 1o 5 are Short Answer Type. Answer any 3 questions. Each question

carmies 2 marks. 3x2=6

e R & e i anfgn @ v w2 2
What was the role of Austria in the unification of Italy and Germany ?

5, ZiEl 4TAT T a1 IIE A1 2 2
What was the objective of Dandi March ?

3 g SRR waH o SR an’ feorl # 2
"Non-coopcration movement was the first mass movement.” Comment.

a. 3Mﬁhmwﬁqw§hﬁ3mﬁﬁmaﬁﬁmamﬂmﬁaﬁmr? 2
How did industrialisation influence the livelihood of labourers ?

5. rﬁw%;ﬁwaam%shmﬁmﬁaﬁﬁwmﬁﬁzﬁﬁl 2

Mention the characteristics of agro-economic activities of villages.

a'ﬁ I9{q WT / Long Answer Type Questions
swa#ansamr7ﬁﬁawﬁw#:rﬁ%&ﬁm?mfmrmwéwnﬂmwwz%ﬁ%q43#

Frtfed #1 Ix4=4
Question Nos. 6 and 7 are Long Answer Type. Answer any one of them. Each question
I1x4=4

carries 4 marks.
6. ﬂ.:“éi@"mmﬁﬁfaﬁ,wsfrtﬂﬁarﬁv ¥ Q! H Tl | 4
State the contributions of Mazzini, Cavour and Garibaldi in the unification of

ltaly.

(111 ] H [5011-H 8] Page 19 of 24
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7 At wha sita wa ¥ fadan wt ’
What is New Economic Policy ? Discuss.
Tife f@T / Political Sclence
¥q IR U¥T / Short Answer Type Questions ;

oy W g d zswaqaaﬁwilnﬁ#ﬁﬁ?znﬂfﬁ'm‘;’mm fory

29 Fraifee 41 224

Question Nos. 8 to 13 are Short Answer Type. Answer any 2 questions. Each question

carmes 2 marks, 2x2=4

3 T foew e i sk i § 2 W 2

How are the caste based differences prevalent in India ? Explain.

d/wmﬁmrﬁﬁmaﬁwnmr@ﬁl%? 2
What is the importance of Power sharing in dc.mocracy ?

10. TR &g oW AReH S TE@FVI AL 2 2

What were the main reasons for the students' movement in Bihar ?
ymﬁﬁm%ﬁmﬁmﬁmﬁﬁﬁaﬁﬁ? 2

. How do you sce the future of democracy in India ?
12,7 i e @ A € 2 2

Terrorism is a challenge for democracy. How ?

13, Wl ¥ | SR @ et ik St W o i frooh R 2

Write a short note on the responsibility and objective of democracy in the
coming society.

(111 ]H

SO011-H qg

Page 20 of 24

http://www.bsebstudy.com

woo Apnisqasq-mmm//:dny



wod Apnysqasq mma//:dny

http://www.bsebstudy.com

au mﬁu RLEW Long Answer Type Questions

o1 WO 14 U9 15 70 Fdta 1 yd @ foelt v a7 T 1 91k v & PO
4 3% Froffer &1 Ix4=4

woeshion Nos, .
Questiontd 14 and 15 are Long Answer Type. Answer any one of them. Each question

cames 4 marks, I x4=4
3 M & Tl weeal w1 s wt Famt wa 8 ferdt @ s vowa 2o A

~

Mention different aspects of life in which in India there is discrimination against

women and they are in weak position.
|5 NS TS WA 6 a2 4

How could democracy be successful in India ?

NYIEA / Economics
g IATT U¥ / Short Answer Type Questions
qyT WEAT 16 @ 187% 71y IANT &1 g @ T 2091 & IV 1 9w 9T & fay
2 %% fuffia &1 2:2+4

Ouestion Nos. 16 to 18 are Short Answer Type. Answer any 2 questions. Each question

carnes 2 marks. 2x2=4
1o, sderae fER F7d € 2 2
o
What is Economy ?
17, ummnﬂﬁ%mﬁ@m"qﬁﬁ| 2
Explain the relationship between Income and Poverty.
2

18/ ATM &1 ¢ ?

L

What is ATM ?

| 111 ] H [5011-H o8 Page 21 of 24
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%t Fafia W / Long Answer Type Questions
& AT

YT wEr 19 U4 2oﬂtf3wﬁvf!nﬁ#firﬁwmmifmm
. 114'4

4 N& fraffia
h eston

Question Nos. 19 and 20 are Long Answer Type. Answer any onc of them. Each qu )
1x4=

carmes 4 marks.

19.  wEwftn & ngeaqe aea a4 b ?mtfqmﬁmuﬁqumm‘ﬁﬁl 4

: : in
What are the important clements of co-operation ? Explain its ol

development of a state.

Jo./ fw&:faqw#mm%mﬂfmﬁmmmt ?Wﬂfﬁfﬂ’i‘ 4

Explain with example how India is known as scrvice provider to the world.

et / Geography
aqzaﬂum / 8hort Answer Type Questions
v #T 21 @ 25 7% g Iha §1 @ PR swAt & I 3 grim w7 & AT

2 3% Fraifea #1 3x2=6
Question Nos. 21 to 25 are Short Answer Type. Answer any 3 questions. Each question
carries 2 marks. 3x2=6
21, W T, 531 el § fER TR W ¢ 2 | 2
How is crop rotation helpful in the conservation of soil ?
}./ﬂmﬁaﬁﬁ%mw%mmmhﬁml ' 2

Describe the causes of pollution of the rivers in India.
Wﬁ%m%mmmmmﬁml : 2

Mecntion four main fag:tors of wildlife deterioration.
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QA7 e @ g e uduE § 3T 9 @hEd 7 2

What do you mecan by the conscrvation and management of minerals ?

EROIA @ T R ATR 7 2

[
wn

How is solar encrgy produced ?
< I W / Long Answer Type Questions
R¥T WGAT 26 U3 27 T4 Ima #1 36 ® G 0F T IA0 F1 A9 AT & v
4 3% fifra #) 1x4=4

Question Nos. 26 and 27 arc Long Answer Type. Answer any one of them. Each question

cames 4 marks. J x4 =4
26.  IERIETV, FAaETor 3 AR Q@ T R A £ 2 4

What do you mean by liberalisation, privatisation and globalisation ?

ym&ﬁaaﬁm&nﬁmqﬁﬁmﬁmzﬂmaﬁﬁm 4

Describe the importance of transport and communication in Indian economy.

ATYST WU / Disaster Management

Y IAG WY / Short Answer Type Questions
0¥ WeAT 28 ® 31 7% Y IANT &1 39 @ (T 2091 & 3¢ &1 9}F qvA F fw
2 3% fryifia #1 2x2=4

Question Nos. 28 to 31 are Short Answer Type. Answer any 2 questions. Each question

carries 2 marks. ’ Ix2«4

ng. MG fFad TER & E & 2 2

How many types of disaster are there ?
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29 ) fvgwo & fan qum s
Suggest measures to control flood.
30 v s gEnh & da s we wifag

Differenuate between Earthquake and Tsunami.

31 swfEs wEvE | e ssa e o e s

Describe the role of local administration in emergency management.
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